OPERATIONS WITH POWERS |

= Multiplication of powers with the same base 33x 34 - 33"4

Exercise 1.- Multiply these powers and express the result as an only power:

a) 5% 5% = d) 10-10% = g)a®-a®-a=
b) 212 .23 = e)x3.-x? = h)b-b=
c) 6265 -6 = flmé . m3 = )92.97 =

20 17 20-17 3
= Division of powers with the same base 5 -~ 5 - 5 - 5

Exercise 2.- Divide these powers and express the result as an only power:

a) 54:52 = d)3%:33 = g)x7:x% =
b) 10%:10° = e)a’:a? = h) m2:m? =
£):5%: (5% 5%) = f) (5°-53):57 =
= Power of a powers (73)4 — 73‘4 —_— 712
a) (3*)* = c) (10°)* = e) (99)? =
b) (%)% = d) [(2%)*]° = f) [(a®)*])? =
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